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~OFGF 2 A0k (safeyield) ? (54)

O3 2t H (Ripplediagram) - ~ 4% 4 ¢ 4 (MassCurve) -
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O ik &L= A5 E 2 BoiFoK A EUTe g ?
(_)péf-é,’ﬂz»a‘g.% ,% K= 475 E2 Bid-k4 e chig it ? (104 )

=

SR B &~ 7 (lognormal dlstrlbutlon) TOAE R PR (TR K A

oS5 ERPIE2E DL E 5 800cms; £ IR FE 50 & %
iF g & 2500 cms e

O R ze TERDEE 100 £ xR E 5 R ? (104)
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A K AR E (%)

it i 4l g 99 90 80 50 20 10 4 2 1 0.5

g=02 -2.178 |-1.258 |-0.850 (-0.033 |0.830 |1.301 |1.818 |2.159 |2.472 |2.763

g=0.0 -2.326 |-1.282 |-0.842 |0.000 |0.842 |1.282 |1.751 |2.054 [2.326 |2.576

g=-0.2 -2.472 |-1.301 |-0.830 [0.033 |0.850 |1.258 |1.680 |[1.945 (2.178 |2.388

~O)iP3) 3 =¥ R (oxygen-sagcurve) ? (54 )
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( Streeter-Phelps equation ) » 33 3% 4238 ¢ & 82 £ % (10~ )
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